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Ejercicios de Derivadas Resueltos

Halla la funcion derivada de esta|s funciones:

a) f(x) = % b) f(x) = (x2—3)3
a) f1(x) = &2 ‘2‘?"" b) £(x) = 6x(x2 — 3)?
a)f(x) _ xS_ZxZ b)j.(x) - w{xZ +1
X
) ['x) =1 (si 0) b) f(x) = X
a) f'(x si x# ) f(x ——
a) f(x) = ;‘J (x + 6)? b) f(x) = \ sen x
. . 2 COS X
a) [(x) = ———— b) f(x) = ——=22
/ 35V(x+6) / 2\sen x
D0 S00 = = b) f(a) = 7¥ 1+ oo
- X
- s 2-1/2 3 2-3/2 —-3x
a) f'(0) =30 —xHVE [ = =1 -xH2 0 (22x) = ——
a) f(x X Sfx 5 X m
D) f/) =77 -eX+ 7L eX (D)= e (nT7-1)
a) f(x) = 3i = b) f(x) = In 3x + &'~
X
Vx
DS = L+ L b) fia)= > +eVx L1, ¢
3x? 3 3x 2V X 2ix
2 -
a) f(x) = 1 +xx'2) b) f(x) = e*¥ - 1g x
'i)f’(x)=2( X )-1+x2—x'2x= 2x . 1-x* _ 2x(1-x%
B 1+ x? (1 + x?)? 1+x?) A+x»*  QA+x??

b) f/(x) =2eFtgx+ e (1 +1g2x)=e®Qigx+1+1g%2x)=e*( + 1g x)?

a) f(x) = (xf—gl)z b) f(x) = cos? x + eS" ¥
D [l = 2X2@ =D o 2= Ste— D =203 3ad - 3w? - 2w
- (x—1)* (x— 1) (x—1)3
_ x3 — 3x?
(x— 1)

b) f'(x) = 2 cos x (—=sen x) + %"~ - cos x = cos x (=2 sen x + %" %)
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1-Xx

b) flx) =

e

X
2

(x?—-4)*

2 3xf_12x2_2xf 1 1 xf_12x2

a) flx) = sen %

a) f'(x) =0

Z— 47 2 a3 ?-4p

b) f(x) = log x* — log(3 — x) = 2 log x — log (3 — x)

R —

1

a) fx) = 1g3 x?

+
xin 10 (B-x)in10

b) flx) = Vin x

a) f'(x) =3 1g2 x?(1 + g% xH) - 2x=6xtg? x> (1 + 1g% x?)

1

2xVinx

b) f'(x) =

.2
a) flx) = arc sen ‘T

b) flx)=arctg(x?+1)

. 1 2x 2x/3 2x
a) f'(x) = : = _ = ,
/ V1-(x%/3?2 3 V1 - x/9 VO — x4
b) £ 1) = 1 - 2%

1+ @x2+1)2

a) flx) = arc cos 2
X

1+(x2+1)?

b) flx) = arcig %

o -1 -1 1/x2 1
a) f1(x) = == -
Vi-(/x)2?  x2 N1-1/ax? avaxZ-i
1
b) f1(x) = ——— 1 _ = 1 L

1 ( 3 )-“2_ 32 (x?-4)—x3 - 2x
4



a) flx) = Varcig x b) flx) = arc cos e™*

s, 1 1 1
) f1(x) = : -
2Narcigx (A +xH 201 +xHVarctg x
_ ) _ . —X
b) () = —— e (1) = —E
1-e% 1-e®
a) flx) = Va+Vx b) flx) = arc tg( : ::‘
a)f’(x)=—] -(1+ 1 ): 1 .(Z‘G+1)=
2Vx + Vx 2Vx ) 2Vx+Vx 2Vx
_ 2Vx + 1 _ 2Vx + 1 _ 2Vx + 1
iVx - Vx+Vx  4Vx @+ 4Vx?+xVx
b)j'(x) - : 1_ - — - =10 +x) —»()1 -x)
1+[(1-2/0 +x] (1+ x)-
_ 1 L -l-x—-1+x _
1+ [(1-2%Q +x) (1+x)?
(1+ x)? 2 -2

Q+x)P2+(1-22 (@1+x)? (1+x7?%+0Q-x)?

=2 =2 —2 -1

1+x2+ 20+ 1+x2-2x  2x2+2  2(x2+1)  al+1



